
Y5 – Autumn – Block 1 – Step 9 – Number line to 1,000,000 Answers

Question Answer

1
a) 30,000     50,000     90,000
b) 300,000     500,000     900,000

2
a) 30,000     65,000
b) 100,000     950,000

3

4

a) The difference between the start and end points is 10,000
There are 10 equal intervals.
The number line is counting up in 1,000s.

b) The difference between the start and end points is 100,000
There are 10 equal intervals.
The number line is counting up in 10,000s.

c) The difference between the start and end points is 50,000
There are 10 equal intervals.
The number line is counting up in 5,000s.

Number lines accurately labelled counting up in the appropriate amounts.

5
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b)
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6

multiple possible answers, e.g.
a) A = 25,000          B = 89,000          C = 5,000
b) D = 400,000          E = 900,000          F = 150,000

7
a) Tiny has counted the number of lines instead of the number of intervals.
b) 600,000

8

a) any two numbers equal intervals either side of 250,000, e.g.
200,000 and 300,000

b) any two numbers such that 250,000 is three-quarters of the way along the line, e.g.
100,000 and 300,000
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